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’ 100kN/mM##BZ % 1.00/ 000 ~ 1.61 12459|3mZ#BRD| - ~ = - -| 100kN/MZE#B 22 1.00[ 10.70 ~ 16.06 12459|3m%i#BZ % al ~ = = =
Zh st 1.00[ 161 ~ 939 100.00] Zhust | 000 ~ 939 248 13.26 ZThLLSE 1.00|] 5.00 ~ 10.70 100.00f Zh it | 500 ~ 16.06] 248 13.26
9 100kN/mM#%#BZ % 1.00/ 000 ~ 285 14516|3mZi#BZDH| - ~ = - -| 100kN/MZE#B 2% 1.00| 10.63 ~ 23.88 14516|3m%i#BZ % al ~ = = =
Zh st 1.00] 2.85 ~ 10.64 100.00] Zh st | 0.00 ~ 10.64] 2.80 14.98 Zh LS 1.00| 500 ~ 10.63 100.00| #h it | 500 ~ 23.88] 2.80 14.98
3 100kN/mM##8Z % 1.00/ 000 ~ 281 144.45|3mZE#BRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.61 ~ 2352 144 45|3m%HBZ % = ~ = = =
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4 100kN/mM#%# 8% % 1.00{0.00 ~ 3.06 148.64|3m%#8% 5| 0.00 ~ 0.23| 3.13 16.74| 100kN/m%#B 25 1.00| 1059 ~ 26.11 148.64|3m%i#E% 5[ 25.00 ~ 26.11| 3.13 16.74
Zh st 1.00{ 3.06 ~ 10.84 100.00] #h st [ 0.23 ~ 10.84| 3.00 16.05 Zh LS 1.00] 500 ~ 10.59 100.00| #hlist | 500 ~ 25.00] 3.00 16.05
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Zh st 1.00 2.86 ~ 10.64 100.00] Zh st | 0.00 ~ 10.64| 2.78 14.85 Zh LS 1.00|] 500 ~ 10.58 100.00| Zh it | 500 ~ 2400| 2.78 14.85
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